3.3 Proving Lines are Parallel

Objective: Students will be able to find the measures of angles in parallel lines cut by a transversal

If Alternate Interior Angles are Congruent, then the lines intersected by a
transversal are parallel

¢ Prove € |l w.

Line {is parallel to line » because

are

If Alternate Exterior Angles are Congruent, then the lines intersected by a
transversal are parallel
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Prove € Il .

Line Cis parallel to line » because

are

If Corresponding Angles are Congruent, then the lines intersected by a
transversal are parallel
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f- 4 Prove € Il .

Line {is parallel to line w2 because

are

If Same Side Interior Angles are , then the lines intersected by
a transversal are parallel

Prove ¢ |l w.

o0° Line {is parallel to line » because

are
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CH is the transversal for line AD and EG.

Prove AEIIE%

is parallel to because

are

OT is the transversal for line MP and QS.

Prove MP Il QS
W is the transversal for line TW and XZ.
\Y; Which statement would prove MP Il QS?
T 1. ZTUV = .VUW
-— w
U — 2. A\WUK= ZYV
3. LTUY= .ZYU
Explain your answer.
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# and ¢ are transversals for lines « and
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Independent Practice
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CH is the transversal for line AD and EG.

Which statement would prove AB 1EG?

C ~
1. zABC = .FBD
A B D 2. .ABC = .CBD
3. /ABC = /HFG
Explain your answer.
E E G
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OT is the transversal for line MP and QS.
9) Which statement would prove MPI1QS?
1. zMNT= .QRN

M N P 2. ZONP= NRQ
3. .ONM = QRO
Explain your answer.
Q R s
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W is the transversal for line TWand XZ.

T Prove WV IIX_Z

In the diagram below, lines n and m are cut by
transversals p and g.

30 Explain your answer

X

— "

p

A

What value of x would make lines » and m parallel?




